J9.1f a hemisphere,is melted and fourf equal volume are made, the
radius of each sphere will be in comparison with hemisphere will be

IR fRdr reener #F RAgar T e 3AdT drel 4 NS T
I § at gger rderter i Jerewm F g1 Al i Brear fraet gef?

2l vews A1 o

Vo| € : | L L

TN OO
OO
o

L

|



ymx .
Yz -

=<
=

Vol (2 aue

2.
6

3o-The ratio of total surface area and

o\y

216 x)rm,gr 7

-%OQHN)

WL
136

x3Al6

volume of a sphere is 1: 7. This
sphere is melted to form small
spheres of equal size. The radius of
each small sphere is 1/6th the radius
of the large sphere. What is the sum
(in cm?) of surface areas of all small
spheres?

TF N & Fd JSOT &G adTl
TaT 1:7 § =@ S @
Rga@R s A9 F s M
T ST B T8 B MAd F
fsar a3 M & B F 1/6 8

a) 31276 236194

2
| SSC CGL T2 20 Feb 2018 |



Gl‘l”' 31.A ball of lead 4_cm in diameter is

covered with gold. If the volume of

the gold and lead are equal, then the

@ thickness of gold [given V2 =1. 259]
is approximately

4 cm <OTH grell HE Y el X
A i Wa T A B 3R

VoLl ! R Fa 3N WX FT AT T @
v ar Wi Y 9IT AT AA A
LA T\ AR B - O O o= R d V2-1259
a) 15.038 cm b) 0.259 cm
2*/ \_/ c)1.036 cm _#70.518 cm
2 ¥ _
%2
05,8

|CGL 2013 T-2 | 3



32 - A large solid sphere is melted and moulded

O to form identical right circular cones with
_7Y))( base radius and height same as the radius
of the sphere. One of these cones is melted

and moulded to form a smaller solid
sphere. Then the ratio of the surface area of

_\1 = NX i.p—%%""‘ the smaller to the surface area of the larger

4 3
a)l: 33 b)1: 22

2 4
c)1:33 1:23

| CGL 2013 T-2 | 4



33- A solid sphere and a solid

2 2 hemisphere have the same total
l{}q’f = B/P"f surface area. The ratio of their
2 A volumes is
5 R 3 T et ow a3k o
N2 FNEF F FA R
> £_J 8IS TH AW § | 3%
) Y 2 ;rma?fr T 9T a9
o) 2 3V3: 4 b)4: 3V3
AARX 2 =);(X£ c)3v3:8 d)1: 12v/3
Axz iy &y

|CGL 2016 T-2 | 5



24, Twoylindrical jugs have

heights 5cm and 8cm ,
respectively. If the capacity of
‘Y/h 5.:¢8 the smaller jug is 64 cm?3, what
is the capacity (correct to 2
decimal places, in cm?) of the

25 5, Ol larger jug?

”9(% vt | é gl §ATY JATHR SR A
-i_ ? 39TS HAA: 5 cm 3T 8 cm B
\6 38 &Y ' IRk BR S e
24576 X 64cm® §, 93 T H eRar
AEAI Y Y B Mxsip (cm® #, gUHeT & 91§ Q
3l Tl T A0 FY) AT

262.14 b) 102.40

c) 294.54 d) 163.84

|SSC MTS, 18 Oct 2021, Sﬂ 6



35-Two similar jugs have their

heights of 8cm and 12 cm,

4= respectively. If the capacity of

2, the smaller jug is 80 cm?3, what

is the capacity of the bigger jug
(incm3)?

(3D)v91.(2')7 N
?

1D) h £
2-

0

AT 8cm 3R 12 cm %’I
I R S A afRar
80cm3 § o 93 S &Y
eIRdT (cm3 &) Fa71 872
a) 120 b) 192
216 A 270

| SSCCGLT1, 19 Apr 2022 S2 | 7



24. A solid metallic cube is melted to
form five solid cubes whose volumes

_ . . A e . . are in the ratio 1:1:8:27:27. The
(|D) S’d’b 12122031055 ‘4 percentage by which the sum of the

(’5])) Vol 12|t ¥ ‘27.27: (4 surface areas of these five cubes

exceeds the surface area of the

. N . g original cube is nearest to
() s IL' 124594 (6 99 % & oW o7 = Ruen &
)L o oW o s o § e

LA X W ¥ & o WA F g aww
%'—Z}L A g9 & aF%d § fhde
gfaera s 82
a) 10 W50
c) 60 d) 20







on=—y2J,

\47(,27/(9%?-}7/7&'}&[’00

\xng
}é g

o

D

W=

— Al

4. A solid metallic sphere of

radius 8 cm is melted and
drawn into a wire of uniform
cross-section. If the length of
the wire is 24 m, then its
radius (in mm) is:

WScmﬁ_ClTaﬁ'mﬂﬁ
F N N Ngaer
AT A I R TRt
et g I AR A aFag
24 #Hex 7, o swhr Bwan
(#FH=Y 7) &

a)6 b) 5

A0 ael

|CGL 2018 T-2 | 11



2:- A cone and sphere have

2 equal radii and volumes.
_l_-p’(zhz -(-4‘7*7 Find the ratio of the
= /%/ diameter of the sphere to
h. M(-(ﬁ“’- thehelghtofthecone
=T et Qﬁ'? IR A H;r
ly B e 3R amad
cm/spm A @ MA F AW
I dF ! FEE F
2, AT AT A
ey a)2:3 b) 2: 1

/1:2 d)3:2




2. The total surface area of a solid

right circular cone is equal to
W<Y+'Q'> qﬁY% that of a sphere of the same
(7 radius. The height of the cone is
’i
Y+ 1 _ ‘1 2 how many times the diameter
Y - 7 2J2  ofthe sphere?
Th S oFagad UAF  HI

! QT TS BFmd WA
e m:naa:mwas

Az W ¥ 9F o FaE ae
7 & g Y forae T @i
/y[\/_ b) V2
¢) 2v2Z d) 2

2

|SSC MTS, 18 Oct 2021, Si 3



Y- A solid is hemispherical at the
bottom and conical above. If the

M_._ 02_;1:}-7 4 surface areas of the two parts are
equal, then the ratio of radius and

{ 2 2 height of its conical part is
_Y= T frdlt arg #1 Faar ffear e

e § 3R Iwenr e
9F B IR et fRwwl @
aﬁmw%a’remm
REY N B v F9E &
T B

a)1:3 b)1:2

c)v3: 1 %1:\/5

|CGL 2011T-2 | 14



\2‘ 5. The radius of sphere and the base
dius of cone both are equal to
= P ZJE 2 2+4 ra
q,ﬁ’(3ﬁ) (I ) 3vV2cm. If the surface area of the
sphere is the same as the total
Qﬁf& surface area of the right circular cone,
then what is the height of the cone?
AL/ | oape T T Y B 3R T o B
S22 IR Ben, @9t 3V2em . &
5 W g I A w g
AT, 39 o« T aF & ;tmv?
&Y A% F el g, ar em
Y FUTS Frde &2
a) 8cm b) 8vV2cm
c)9v2cm ﬂlZcm

| NTPC CBT-2, L6, 9-5-22 | 5



Y—-; {+(1=R

y7(ey2) = Ueu7
29
=)M(zy+«4))f=w

y=25
> 625
/g/*“x:’i’;ﬁ/\zs

3 RIRE

6- If the radius of a sphere is

increased by 4cm , its surface
area is increased by 464 m cm?.
What is the volume ( in cm?) of

the original sphere?

Ifg s M fr B 4 A

ST ¥ aafas MS Fr

A (g7 G F ) Far 87
15625 35937
T b) s

6
11979 15625
2 d) 8 T

c)

|SSC CGL T2, 11 Sep 201951 | 16



#. The diameter of a sphere is twice

@:21 Y the diameter of another sphere.
The surface area of the first

sphere is equal to the volume of

the second sphere. The

y/'ﬁ’xq/ ;__b_';?“/é‘ magnitude of the diameter of

the first sphere is

TF Jdd FT A TH gAY
12 =Y MNeh F A { I g

MF F ST &G gl
QY =2¥=R MaF F NMIAdT F W& 8l

ggel Mod & AW &1 AT

Ug =dia qdI3U?
a)12 b) 24

c) 16 /f 48
| CGL 2016 T-2 | 17




8: N solid metallic spherical ball are

O XN = @ melted and recast into a cylindrical

rod whose radius is 3 times that of a

spherical ball and height is 4 times the

radius of a spherical ball. The value of
N is:

chggynf%yp“%f§AY ad N & o afaw aed @

R=3Y
=Yy

N=27

|CGL 2018 T-2 | 18



O d
2y Y
h=9Y

%;m;??ﬂ =/(W7fég’/)

Y=5

q

Q. The radius of a sphere is three times

the radius of a cylinder. The height of
the cylinder is nine times its radius. If
the total surface area of the cylinder
is numerically equal to the volume of
the sphere then find the height of the
cylinder.

Th Mo A BT F ddT &
IR B B #r faw g @
Wﬁmmma‘?f
Bear @ 9 =t 8] afe dos &
F T daee AR A &
HIad & TEATeAS AT aE7 &l
ar ad< &Y FES AT g7

a) 4.5 5

c)2.25 d)3

| R.R. B. Group-D 2018 | 19




Jo- Assume that a drop of water is spherical

L and its diameter is one-tenth of a cm. A
Y= 720 conical glass has a height equal to the
1 e diameter of its rim. If 32000 drops of

> water fill the glass completely, then the
height of the glass, in cm is

AT & fF 9Er i 9 MaFR &
2 ik sHdT =T —cm g
My Lyl 5 emmﬁmaﬁrmmw
W———*%%%%l Vx2Y F gAe & 3R =8 e # o9
?Z( P J ? # 32000 §¢ T S § @ Fraw
Eﬁﬁﬂ?(cmﬁ)wml

A=Y %4 b) 2

c) 233 d) 4V3

2Y

|CGL 2013 T-2 | 20



%
T QufdaM wav®
ot
3=Y |
(“6 a— LY
|2

.

14

A right circular cylinder is partially filled
with water. Two iron spherical balls are
completely immersed in the water so
that the height of the water in the
cylinder rises by 4 cm. If the radius of
one ball is half of the other and the
diameter of the cylinder is 18 cm, then

|CGL 2016 T-2 | 21



|12. The total surface area of a
2 2_ 2 hemisphere is very nearly equal to
FNY = '& a that of an equilateral triangle. The
2 side of the triangle is how many
=) CNERI - _‘}_ times (approximately) of the radius

Y* of the hemisphere?
‘ U M FT Fo TSI &G
)z_ o UF GHAE O & a9ed &

QHR —-—— K] %F‘
Y I ST g1 P fr oepem
Mere S fBsar v e @
(FTITSAT) &7

25w
c) (21t\/§)0'5 yl (41t\/§)0'5

|SSC MTS, 2 Nov 2021, Sﬁz



Ca(;nouh—-) _QA____Z_
TR 3
S 2navh  _ 2
27v(rth) 3
2 G

Vol (hewi) =Vol. (Gn.)

Z qrx Ucuiu= F Osz,ZO»

LS
vy = &

—

3

|3+ A solid hemisphere has radius 14cm.
@It is melted to form a cylinder such

that the ratio of its curved surface
area and total surface area 2:3.
What is the radius (in cm) of its
base?

T&h 39 el Y B3sar 14 cm
g =0 Rygaey v Jad 39
YR ST AT § F 39 9%
USSR  &hd ddT TS

g% F1 Fua 2.3 ¥ sww
YR A BT (em H) F41 872
14

10
MBterst
V5 V1

| | 23



IY. A solid brass sphere of radius
_ Vel olimld 2.1 dm s converted into a right
0[. SPW - , % circular cylindrical rod of length
y 5 7 cm. The ratio of total surface
z}ﬁxzho_( =FY xF 21cm areas of the rod to the sphere is
2 =i Pear 21 sd@Hi F
y 3 diae & Aed AT 7 4.
> A FF F dw TN
TSAD  puzxue 2gwnamwrmaérg
- - g | 39 ATl TAT
RO ATxakaty o ST &R T HTdTd
dd1sv |
a)3: 1 b)l1: 3

/h:3 d)3: 7

mdcwm
(g

|CGL 2016 T-2 | 24



|5+ A solid toy is in the form of a hemisphere
surmounted by a right circular cone. The
height of the cone is 2 cm and the

- diameter of the base is 4 cm. If a right
m Z circular cylinder circumscribes the toy,
——\ finf:l the difference of the volumes of the
cylinder and the toy.
U& A & FW AF H W@H TH
———— 2 TRl samm dar d AF H

ﬁ1€2cm%3ﬁT3ﬂW7ﬂ'_€IW4cm
¥ R TF dJaT 3 @A &
mtrﬁmam%aﬂém;ﬁﬁ:%ﬁﬁ*
2%2 &1 Hed? 9aT H)

i 1 A25.14cm®  b)2.514 cm®
c)251.4cm®  d)0.2514 cm?

b =2y
7 9 A

| | 25



[6- A solid sphere has a radius 21 cm. it is melted to form a

g, X@= g?_-l-Sg

2—-‘5 gx\M
ZIx21x2 Y (L a6 _ 7y

53t
a9

%M%]T, =?’\ﬁ Q’(Q\ =Y
5

cube. 20% material is wasted in this process. The cube is
melted to form hemisphere. In this process 33.33%
material is wasted. The hemisphere is melted to form
two sphere of equal radius. 4% material was also wasted
in this process. What is the radius (in cm) of each new
sphere?

TH O i 1 BT 21 ecm §] 3@ RgaH
U ST ST @] 39 9fRAT F 20% W Seie
8 S 8] g & Rgaet v rder saRr Sar
g 39 ufhar & 33.33% wWHIA qF g S g
g F Rt @ A Bsar arer g aMa
TR I 8] 5 9iRar F 4% wwwEh st S @
g fl| 9 A+ a3 M i BAT (cm H) Fa7 87
a)4.2 xV2  Hf8.4x3V4

.¢) V2 d) 4.2 x ¥4

|CGL 2017 T-2 | 26



|?#: A solid sphere has a radius 12cm. It is melted to form

O—, D—s U\\ a cube. 209% material is wasted in this process. The
@ cube is melted to form hemisphere. In this process

@"’ ,16. 66% material is wasted. The hemisphere is

melted\%oyfs:?? two spheres with radii in the ratio

(_13+27!3)1:3.12.§‘% aterial was wasted in this process.
'Z“K*szgxgxz=zg 13 What is the radius of the new bigger sphere?

368 TF 3 M M BSA 12cm 3 58 Nuaaw

P's U I ST § UH 9RAr # 20% el g

& St & a7 A Rgasy ve srefaen a9
36 =Y ST & 56 YRR F 16.66% AEEM qd @ e

g edfd # Rugaeer @ NS @ T 8

et B3l &1 U 1:3 @ 9 ufsean & sft

12.5% HHA =T g I$ ofl| §3 Av M Y

Brear #ar 82

a) /36 b) 6

c)18 A3336
| Based on CGL 2017 T-2 | 27




/8. A cylindrical can whose base is horizontal
and is of internal radius 3.5 cm contains
sufficient water so the when a solid
sphere is placed inside, water just covers
the sphere, the sphere fits in the can
exactly. The depth of water in the can

before the sphere was put is:




19 From the solid gold in the form of a
=nx O cube of side length 1 cm, spherical

solid balls each having the surface
1

area m3 cm? are to be made.

I
— J C
l=m *{%’ (“-'Y =T ? Assuming that there is no loss of the
2. Y= D /'5 _1_ material in process of making the
Y balls, the maX|mum number of balls
6= “n nﬂzmade will be -*
v=_\ 1cmaama1ﬁa¥%?ra;wanra:r

27¥s ¥ MAFR AT I a8 et ¥
s & 9a%wd 7z cm? @ AW
NSy PR arg Hr fepa s
qEE 7 g5 @ A fhaelt die TS
ST et 872
a)3 b) 4
He6 d) 9
|CD52015II | 29




20-0.1 percent of 1.728 x 10°
spherical droplets of water, each of
diameter 2 mm, coalesce to form a

| x|7227}|&/x) - '73 spherical bubble. What is the
o m diameter (in cm) of the bubble?
M o 1.728 x 10° Ut i DA,
.2 - et s 2 e ¥

&1 0.1 yfaera w@fFafaa g
UF MAHR  Jogel dadl gl
mﬁww(@ﬁ)mﬁm’)

a) 1.2 b) 1.6
c)1.8 ,;2)2.4

| SSC MTS, 02 Aug 2019 S1 | 30



[;J = N xpf (N+Z)
‘4 ZZ,(ZﬂxS

___2_0& \sz qux‘{‘s

IS ©
vS 6

1520= N 19% ,,;zos)
9 N T

%
hv—-

R4U4R
562 ag|

>

21+ A large solid cube is melted and cast

into ‘N’ small solid spheres, each of
radius 3 cm, and ‘N + 2’ small solid
cuboids, each of dimensions 4 cm X
4 cm X 6.5 cm. If the length of each
side of the large solid cube is 12 cm,
then find the value of ‘N’.

THh 93 oI g & Rgdst 93+
3 cm B3=4T gt ‘N’ B¢ 3 e
INIRAF 4 cm Xx4cm x 6.5 cm
et A N + 2 VIR I
UATH A0 S g Ife 93 o
Ul Y GeAF AT N dd1$ 12 cm
T @ N F A AT D

a) 8 b) 5

c)7 d)6

| MTS, 20 July 2022 S2 | 31
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